
Figure S3

A

B

1 2 3 4 5 6

n=3

n=30

0.
0

0.
1

0.
2

0.
3

0.
4

0.
5

0.
6

1 2 3 4 5 6 7

n=3

n=30

0.
0

0.
1

0.
2

0.
3

0.
4

0.
5

0.
6

m=3, E(S) = - 0.012 m=3, E(S) = - 0.03m=3, E(S) = - 0.003

test (p=0.356) test (p=0.849) test (p=0.297)

Mutational Cohort Size

Fr
eq

ue
nc

y

> > 1 2 3 4 5

n=3

n=30

0.
0

0.
1

0.
2

0.
3

0.
4

0.
5

0.
6

>

test (p=0.0651)

0 5000 10000 15000 20000 25000 30000
0
2
4
6
8
10
12
14
16
18
20

0 5000 10000 15000 20000 25000 30000
0
2
4
6
8
10
12
14
16
18
20

0 5000 10000 15000 20000 25000 30000
0
2
4
6
8
10
12
14
16
18
20

0 5000 10000 15000 20000 25000 30000
0
2
4
6
8
10
12
14
16
18
20

0 5000 10000 15000 20000 25000 30000
0
2
4
6
8
10
12
14
16
18
20

0 5000 10000 15000 20000 25000 30000
0
2
4
6
8
10
12
14
16
18
20

0 5000 10000 15000 20000 25000 30000
0
2
4
6
8
10
12
14
16
18
20

0 5000 10000 15000 20000 25000 30000
0
2
4
6
8
10
12
14
16
18
20

0 5000 10000 15000 20000 25000 30000
0
2
4
6
8
10
12
14
16
18
20

m
=3

m
=1

0
m

=2
0

E(S) = - 0.012 E(S) = - 0.03

Si
ze

 o
f M

ut
at

io
na

l C
oh

or
ts

 F
ix

ed
 

Generations

E(S) = - 0.003


